


OBJECTIVE

In today’s lesson we wil learn how to sohve 2 stee word

onblems »_




2- Step Word Problems

A. The elves made 94 toys last night
and 449 toys today. They were
wrapping the toys up and a box fell
and 8 toys got broken. How many
toys are left?

B. We had 18 red bows and 14 green
bows in a box. We used 24 bows for
our presents. How many bows are
left in the box?

C. Our class made 63 snowflakes to
decorate our room We put 38
snowflakes on the windows. Then
we decided to put 15 snowflakes on
the door. How many snowflakes do
we have left?

D. Mom decorated 27 cupcakes last
night and 48 today. Our family ate 9
of them. How many cupcakes do we
have left?

E. We have 71 lights on our tree. 14
of them do not work Then 5 more
stopped working. How many lights
light up on our tree?

F. We collected 10 cans for the food
drive on Monday and 46 cans on
Friday. Our sack had a hole in t and
we lost 7 cans. How many cans do
we have left?
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THE ELVES MADE 14 TOYS LAST NIGHT AND 41 T0YS TODAY. THEY WERE
WRAPPING THE TOYS UP AND A BOX FELL AND b T0Y5 GOT BROKEN .

HOW MANY T0YS ARE LEFT!

Key words: broken, lett J

Now that we have the total
amount of ’rot,s the ehes
made (443) we can subtract
the 8 ‘rotjs that 30‘r broken.

443-8=

W order to sohe this problem
lets first €ind the sum or total

number O‘c 1’033 ﬂ'\e ehes mao\e. Tl B Tt
Y+rld= 443
N .35 ’ro‘ds
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E. WE HAVE /1 LTGHTS ON QUR TREE. 17 OF THEM DO NOT WORK.
THEN > MORE STOPPED WORKING. HOW MANY LIGHTS LIGHT UP-ON

OUR TREE!

\norder’rosoive\‘h‘tseroblemwe
J have to first €ind the sum or

Key phrases: 'do not work' | fotal number of fights on the

i s’roepeo\ workm

tree which has alreao\ﬂ been
O ] aiven’rousas Slass '
il | 71 M
- Now that we have the total P“”**‘af‘”eha\'ez**he .
arount of lights we have to s“ *ub‘bh_' ‘ac'a:“jr“he“’:m“:: X ‘;’gr“:; M-y =
i add the t of ights that | 0 - 3
23d arnount of lights tha that dontt toork fom ﬂw_ﬂ o 4t lighte on the tree
1945 = 24 o&‘rﬁh’rs on the tree ’roae’r our
19 7 answer 7 st




